N & 0l & AF S & M M

20189 = =0l & LB H SIS
R s R SE=an);
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 13,223,860 11,269,281 1,954,579
Xl 500,000
J| 197,536
= 428,945
Al 12,097,379
HsolzZet A5 (23e22/H=) 12,260,762 10,618,279 1,642,483
X 500,000
J| 197,536
< 428,945
Al 11,134,281
HsAE &= 8,091,615 6,880,254 1,211,361
Xl 500,000
< 205,000
Al 7,386,615
SSHSANE 23 976,800 550,800 426,000
203 YR =] 1,800 1,800 0
03 Al =AY R =& 1,800 1,800 0
Ox=szsEg:® =2 1,800,000 * 14 1,800
401 Al HIZ 201 Y| 975,000 549,000 426,000
01 A& HI 975,000 549,000 426,000
OHAOIESZE AXALC HXZA
35,000,000& * 10H2A 35,000
OX48 SHM12| HOESH X4 (SEEHD
2£3) 280,000,000& * 1JH A 280,000
OZ= ANUZEIHE HIIEAMNE ZX(EEXHD
2£3) 660,000,000& * 1JH A 660,000
SUMSAE 2¢ 84,200 63,700 20,500
201 Let24d] 4,200 3,700 500
02 =224l 4,200 3,700 500
O=s8ZF HIIe=s 200,000& = 12& 2,400
OQICtAAOER HIIRS
100,000& * 12& 1,200
OMEEX SHXEO0I M3
50,000& = 12& 600
401 Al HIZ 201 I 80,000 60,000 20,000
01 A& HI 80,000 60,000 20,000
OSUMSEAE 2817 £X
2,000,000& * 200 2 40,000
OSUHSAE =5 2517 LA
2,000,000& * 1004 2 20,000
OSUMSAE 2827 B
200,000& = 100& 20,000
A RNENSE 29 132,517 71,754 60,763
101 14 Hl 46,747 18,634 28,113




M HSTED
HH: HEome FE(SBSL2F/HK)
g2 MSAE =5 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
04 JIZtHZ22 s+ 46,747 18,634 28,113
OEFAl NEANSE SSTUHEH oA 2el 46,747
—Jlzs 60,240 * 4% * 156 37,590
- &5 60,240 = 2% = 52¢ 6,265
HissSsIt=" 60,2408 * 4% » 12¢ 2,892
201 L Er2 A | 57,770 13,500 44,270
01 Ar22t2l bl 720 360 360
OgxFAl NHEHSE 22 720
— &Y FAEE 2 30,0008 x 12942 360
—S3NEH U AIRES 7¥
30,000& = 120HE 360
02 =24l 57,050 13,140 43,910
OgxFAl HEHSE 2 27,150
—dIIRa 600,000 * 12043 7,200
—dot=Ee= 100,000& * 1204 & 1,200
—33XNEAH =2l
30,000& = 400H = 120 & 14,400
—33NEN EE 29,000& * 150CH 4,350
OBSTUEANRAUAHAIAE 2 29,900
—dIRe3 16,0002 = 5J0A + 1200 & 960
—OIE{YAIRE 70,0008 * 544 * 12048 4,200
—HCEE 442
14,0002 = 5J0A = 1200 & 840
— SHO0IX MB &CHE 600,0008 * 12042 7,200
—ANAE SN2+ 16,700,000& 14 16,700
401 AIEHI L 2 0] 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
ONEAHZH NME SN2+
20,000,000& = 14l 20,000
405 Xt&tFE SHI 8,000 8,000 0
01 A ESFH S 8,000 8,000 0
OR=1=PFSI By 400,000& = 20CH 8,000
(LINZHEANLEES 410,000 110,000 300,000
& 205,000
Al 205,000
401 A& HIZ 201 I 410,000 110,000 300,000
< 205,000
Al 205,000
01 A& HI 410,000 110,000 300,000
Ot A NHOEEFE AME B SA
60,000,000 * 14l 60,000
=) 30,000
Al 30,000




SN HENED
H: oD E(2YBZ/AR)
e HSAE &= (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
0253 JANEEs & BANM 55
350,000,000& = 14 350,000
& 175,000
Al 175,000
AFA AU 29 2,686,098 0 2,686,098
101 Q124 H| 426,198 0 426,198
BN EEN LR 426,198 0 426,198
OgFAN AlU+2E 29 a2y 426,198
—-JlE2= 60,240 x 259 x 225! 338,850
— =55 60,2403 = 25 * 47L 70,782
— R3S EIIx=Y 60,2408 * 258 ~ 114 16,566
201 et 9| 1,257,400 0 1,257,400
01 AR 22l ] 126,000 0 126,000
OsEHEs MH 1,000 = 5,0008 5,000
OYGFAl AUy 88 2
61,000,000 * 14! 61,000
OYGFAl A= HE A28 2
30,000,000 = 14! 30,000
OZX& =& MH| 25,000,000 = 14l 25,000
O3A| AR A AR 22/ H] 5,000,000& = 1A 5,000
02 2224 H| 1,101,400 0 1,101,400
OZ2Z222 ¥ HMA 942,200
—dI|Rea 15,000,000& = 12&€ 180,000
— Aot 22 20,000,000 = 12& 240,000
- A3 1,400,000 * 29 * 12& 487,200
— L2 35,000,000 = 14! 35,000
OAl&Z&H S|AXb 3,000,000&  12& 36,000
OaU+gE HASH
2,000& = 23| = 5,800m 23,200
OEFA AU E B220xE JANESHS
100,000,000 * 14! 100,000
03 HAI2 HH| 30,000 0 30,000
OAUWU+=gH HEA 30,000,000 = 14! 30,000
301 LBt A= 60,000 0 60,000
11 JIEtE2 A= 60,000 0 60,000
Ogstz)d 29 2AIE
60,000,000 * 14l 60,000
401 AlEHI 2L 2 0HY| 148,000 0 148,000
01 Al&H| 148,000 0 148,000
OALH Q"I Z2AH 30,000,000& * 302 90,000
OUsANs2 dUHE &1
200,000& = 140 28,000
Oues Mol &X 30,000,000& = 14! 30,000

_3_




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 794,500 0 794,500
01 AL ESFH S 794,500 0 794,500
O=g& dIHE 2 137,000,000 * 14 137,000
ogAazd dJHs 7 162,000,000& * 14 162,000
OGXE &JIHlsS 7 14,000,000& * 14 14,000
oU=sdx=sa dllbdls 2
40,500,000& * 14 40,500
OAlld&E &J/Hl& +& 33,000,000& * 14 33,000
OzelArR4 EIHls 7¢
38,000,000& * 14 38,000
OJIA4 &218138 =< 19,000,000& * 14 19,000
oetudlA=2 &EJIHIE #¢
10,000,000& * 14 10,000
OAL=FFH ¢ 7,000,000 = 14l 7,000
OHE &JIH3 =< 110,000,000& * 14 110,000
OsA332 EIIHIE 7€ 24,000,000& = 14 24,000
OYFN AU+IH SBAAY A= (60H2)
200,000,000& * 14| 200,000
MEYSSIAZTLH(YFH2HMETYESSA) 2,600,000 0 2,600,000
401 Al HIZ 201 8] 2,600,000 0 2,600,000
01 Al& gl 2,600,000 0 2,600,000
OYFATRABAA ZHAY
,600,000,000& = 14l 2,600,000
()2EZ=HEAA LAY 1,202,000 0 1,202,000
Xl 500,000
Al 702,000
401 A& HIZ 201 I 1,202,000 0 1,202,000
Xl 500,000
Al 702,000
01 A& HI 1,202,000 0 1,202,000
OAZ=ZHEAA JNAEZ & I Y
1,202,000,000& * 14l 1,202,000
Xl 500,000
Al 702,000
Hssd =4 4,169,147 3,738,025 431,122
J| 197,536
< 223,945
Al 3,747,666
FANH=32Y 122,061 0 122,061
307 glz2tol & 122,061 0 122,061
03 BIAHNHE2IHIEL 122,061 0 122,061
OdFANHS3 2L (282X FH)
122,061,000 * 14 122,061
A8 =4 40,500 70,500 A 30,000




2AM: MsXs

H: oD E(2YBZ/AR)

@4 Ms8d x4 (cho &)
- _ _ RE]

SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
307 2Iz2to| & 40,500 40,500 0
02 QIZHA AAIE E X 30,000 30,000 0

OUYUESAHL AJNSE N (DA, 24,
AN(BEXE HW) 30,000,000& =* 30,000
03 QIZI X HAESHHIEX 10,500 10,500 0]
Ost=AY=NAY 2 NRA(2XS Fo
10,500,000& = 1 10,500

OO XM= A& 44,940 39,660 5,280
301 et A= 3,940 3,660 280
09 HAIAHI B A2 3,940 3,660 280

OF=ZHOHM=HE IR (]
90,000& = 16 1,440
OXel==dgstia &8 XN ol
500,000& * 5&5= 2,500
307 212t0| & 41,000 31,000 10,000
02 DIZEBAAIE E X 16,000 11,000 5,000
OO HHECIENA 29
11,000,000& = 1 11,000
OXOMH HIIE M0 S &dl KA
5,000,000& = 1A 5,000
04 SIZ2ISHAAISH E X 25,000 20,000 5,000
OHM208 BEZHMHLHSUHE sSHAFH(EX
s HH) 25,000,000& * 13 25,000

AFAHMESUHI XS 366,000 336,000 30,000
307 QI2t0| ™ 366,000 336,000 30,000
04 CIZ2tSHALALS B X 366,000 336,000 30,000

OHM398 E=ACIHMEWHE MWEBH(EXE &
oK) 120,000,000& =* 120,000
OHM39s EF=ACHEUHE S8=s N (EXS
o) 11,000,000¥ = 19SS 209,000
OHM39s FA2UAHEUE sRssw KNI (2
g HNW) 1,500,000 * 2000 2 30,000
OHMI393 AFAUMUE Ot S EE X
500,000 = 14€ 7,000

=0 =sUE &I 310,000 280,000 30,000
307 ciztol A 310,000 280,000 30,000
02 QI2tAAMAIE E =X 290,000 260,000 30,000

OHMbs6al 22U 2oHFH(EXg &
o) 290,000,000& = 1A 290,000
04 CIZ2tSHALAIS B = 20,000 20,000 0
OHMb563 E=Z2HESUE LEA A
0,000,000& = {14l 20,000
(SINZHEMRRSHIIBELXA 1,170,000 1,170,000 0




A MEdED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
- _ o dE & =
SA-ZH () - HRAY - BES Ofl & oH Ol AF o Hns2Z
< 172,770
Al 997,230
307 glz2tol & 1,170,000 1,170,000 0
< 172,770
Al 997,230
02 It M AHE X 1,170,000 1,170,000 0
OagE (s4, 54 ,25%) 84 K&
1,170,000,000& * 14l 1,170,000
< 172,770
Al 997,230
(Z)HEMMEMSXSK WX (2SKHA) 102,432 102,432 0
| 51,216
Al 51,216
307 glz2+ol & 102,432 102,432 0
| 51,216
Al 51,216
02 It HAMHEE 102,432 102,432 0
ONZH24 HEHSX X BRI
25,608,000& » 4H 102,432
| 51,216
Al 51,216
(2)LUMEMSAN X IR (2SKEH) 153,648 153,648 0
| 76,824
Al 76,824
307 glz2tol & 153,648 153,648 0
| 76,824
Al 76,824
02 It HAHE X 153,648 153,648 0
OANZMEHMESXZ X i X
25,608,000 = 69H 153,648
| 76,824
Al 76,824
(DIMENSVAESIXE 28,836 28,836 0
< 8,640
Al 20,196
307 gl2tol & 28,836 28,836 0
< 8,640
Al 20,196
04 DIZHHALALSE E X 28,836 28,836 0
Qg (E2, HLUA 5) 22
28,836,000& * 14 28,836
< 8,640
Al 20,196
(2)AZTZAH0IBR X 99,280 92,800 6,480
J| 69,496
< 8,935
Al 20,849




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
307 2Iz2to| & 99,280 92,800 6,480
J| 69,496
& 8,935
Al 20,849
05 QIZt E 2 99,280 92,800 6,480
OAaZ=2x0|2& X 99,280,000& * 14l 99,280
J| 69,496
= 8,935
Al 20,849
(E)GFAAQICHE S HE X 230,000 230,000 0
= 30,000
Al 200,000
307 giztol A 230,000 230,000 0
& 30,000
Al 200,000
04 CIZ2tSHAPALS B X 230,000 230,000 0
OYZ=AUAOICIE W S 230,000,000& = 1A 230,000
& 30,000
Al 200,000
AMEIIESSEMSUHS XS 70,000 51,000 19,000
307 2I2t0| ™ 70,000 51,000 19,000
04 SIZ2HSHAAISHE E X 70,000 51,000 19,000
OAMZDI =28 A=EUa HE NK}(B2Exe &
oK) 70,000,000& * 14 70,000
sSnssdNd 245,600 240,600 5,000
307 QI2t0| & 245,600 240,600 5,000
02 AI2tAMAIE E =X 228,600 223,600 5,000
Ostuid=sotel 4 40,000,000& * 14 40,000
OMESIIZES S4 L HASS S (XS
X on) 105,000
—-&8J|I&5 3,000,0008 ~ 10&=2 30,000
—FAE= 3,000,000& * 10&= 30,000
—HEHSE=2 S4(84 5)
45,000,000 * 14! 45,000
OYFATXHY SH(2ES )
50,000,000 * 14! 50,000
Ostness MAIX S=H AHA
200,000& = 14¥ * 128 33,600
04 SIZ2HSHAAISH E & 17,000 17,000 0
O==248 2= Hsda 2IHEH(EXg HH)
1,000,000& = 103 10,000
OHMb5he ZEZeHMEUa &2t NAA(BXs
A oH) 7,000,000& = 13 7,000
MEYEIN = AHESIHA 3,600 3,600 0




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,600 3,600 0
04 DI2HHALALSE E X 3,600 3,600 0
OMEMESXEA A= &I X
720,000& = 53| 3,600
SSEUHFIHEH XA 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 DIZHHALALSE E X 60,000 60,000 0
OZE=4Y M=U3s &It ZHl N
500,000& = 405= * 3=l 60,000
NESELUS XA 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OAl NE& dgial Nzl X3
5,000,000& = 13l 5,000
O NE& dgia &It X3
8,000,000& = 13l 8,000
O&= M2 dgia ot N3
2,000,000 = 13l 2,000
LN SOHE HEXA 81,500 42,000 39,500
201 Let24E] 1,500 2,000 A 500
01 At 22l 1,500 2,000 A 500
OF23 S 49 M=
50,000& = 2& « 53] 500
O&=ta |RX E2= M 500,000& » 22 1,000
307 21201 A 80,000 40,000 40,000
04 DIZHHALALSE E X 80,000 40,000 40,000
OF= 2 o9 MSUE (X8 )
80,000,000& = 14 80,000
ANHEAZHI S HEHSUS X 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
04 QIZFHALAIR B & 20,000 15,000 5,000
OXMMEAN=E SHddEHNSHE Ot 24l X
2 20,000,000& * 13l 20,000
MEHSUHIASEXH 137,000 115,000 22,000
307 21201 A 137,000 115,000 22,000
04 QIZFHALAIH B = 137,000 115,000 22,000
02018 E=Al -2l(KEAY) S0 Ml
(Bxg 3Y) 45,000,000& * 13l 45,000
02018 2R HUEN U I (EXE &
H) 22,000,000& = 13l 22,000
OHN28sl Z=EceMasHs FIH(EXE &
oH) 70,000,000& = 13l 70,000




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AMSIAZZ I T2 XI& 20,000 26,000 A 6,000
307 gl2tol & 20,000 26,000 A 6,000
04 QIZHH AL AR 2 & 20,000 26,000 A6,000
OAIRl A2 2JI10Hs =l
20,000,000& = 13l 20,000
2=l 520N 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 DIZHHALALSE E X 12,000 12,000 0
O3d=cd XNFod =720a N
10,000,000& * 13 10,000
OZ=el s &I Z2Hl NI (Bxs8 3H
) 1,000,000 = 28! 2,000
F=SINYBHINSHSIXI&A 100,000 90,000 10,000
307 21201 A 100,000 90,000 10,000
04 QIZFHALAIH B = 100,000 90,000 10,000
OMMNMEl IFISINCAH MENSE SSUxH
EF1U3 24,000,000& = 13 24,000
OM11al dFSJ1elatl 2= AAH0EZSH
3 30,000,000& = 13l 30,000
Ox6sl g SINUYTA EIsSUAMNSHE
19,000,000& * 13 19,000
OM41el dFSJ1ela 82350 2 0l=Hl
LIATHS 27,000,000& = 13/ 27,000
MEHMSTHEHUHEI XA 55,000 50,000 5,000
307 glz2tol & 55,000 50,000 5,000
04 QIZFHALAIH E = 55,000 50,000 5,000
02018 SF AL THEHEHIITHZI IH
10,000,000& * 13l 10,000
OXN6sl HEM2 JtEZT W
45,000,000 = 13l 45,000
SOUXNSISSHOIAMEEE =3 A02U3 70,000 40,000 30,000
307 glz2tol & 70,000 40,000 30,000
04 DI2HHALALSE E X 70,000 40,000 30,000
OM202 =2IM=ASSE OIALEH &= A0l
203 2 2018 tAHZE SN M
70,000,000 = 13l 70,000
dI =AU XA 60,000 30,000 30,000
307 21201 A 60,000 30,000 30,000
04 QIZFHALAIH B = 60,000 30,000 30,000
Oligts4ddE=zdE 3018 d=2=4U3
60,000,000 = 13l 60,000
(DN ZMHEHMEXN AW SH XA 12,000 12,000 0




2AM: MsXs
H: oD E(2YBZ/AR)
sz =4 9 &)
5 - 4
M- B (B H) - NSAY - B Ol &F o4 %@ﬁ 2t
= 3,600
Al 8,400
307 2iz2to| A 12,000 12,000 0
= 3,600
Al 8,400
02 QIZ2IAAAIE E X 12,000 12,000 0
OMEHSXNEXN WEH XN
100,000& * 10¥ * 123 12,000
& 3,600
Al 8,400
2SAEESIAUSF XA 100,000 165,000 A 65,000
307 2iz2to| & 100,000 165,000 A 65,000
04 SIZ2ISHAAISH E & 100,000 165,000 A 65,000
O 2018 d=2RAsE=s532013
100,000,000& * 13| 100,000
AUHAIE Z S G 20,000 20,000 0
307 212t0| & 20,000 20,000 0
04 SIZ2ISHAAISHE E X 20,000 20,000 0
02018 AUHALE Z thal XN (EXE 90%)
20,000,000& * 13| 20,000
ERCAC|I0HAXE 50,000 50,000 0]
307 QI2t0| ™ 50,000 50,000 0
04 CIZ2tSHALALS B X 50,000 50,000 0
OE2 & 32I0t 2018 ME(EX8 HNH)
50,000,000& * 13l 50,000
SIZ2US AT XA XS 40,000 40,000 0
307 QI2t0| ™ 40,000 40,000 0
04 CIZ2tSHALALS B X 40,000 40,000 0
OHNB83l St=UStAZXUNA H(EXE8 HAM
40,000,000& * 13l 40,000
S0k UE X & 5,000 0 5,000
307 gizto| A 5,000 0 5,000
04 CIZ2tSHALALS B = 5,000 0 5,000
O&E20 XNYWA oFrtha Mel(BeExg &
o) 5,000,000 = 14 5,000
ZEAHS XA 5,000 0 5,000
307 2iz2tol A 5,000 0 5,000
04 QIZ2tSHAFALS B X 5,000 0 5,000
OHMbe 8@=2E St =SE U3
5,000,000& = 1A 5,000
22X 45,000 0 45,000




2A4: MEIEDL
H: oD E(2YBZ/AR)
e M=sgd x4 (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 45,000 0 45,000
04 SIZ2ISHAAIH E & 45,000 0 45,000
OHMI153 G=AIZDIED dA2=2U3 ME(E
XE HH) 45,000,000 * 14! 45,000
d=2=2US XS 100,000 0 100,000
307 212t0| & 100,000 0 100,000
04 SIZ2ISHAAISHE E X 100,000 0 100,000
02018 AU H)| d=2EUEHEZTDs7 F=U3E
100,000,000 * 14! 100,000
HasH=2EHU X 114,750 0 114,750
301 et A= 114,750 0 114,750
09 #HAIAHIBEAZ 114,750 0 114,750
02018 BasH=sdL HAS 114,750
—2018 BESHSYT YBH
80,000 = 1,0000H 80,000
— 2018 HEaSH=22 I AlH|
7,000 * 1,000 = 34 21,000
— 2018 HESH=22 I HALX
550,000 = 2504 13,750
d=zssMadAHUE K& 60,000 0 60,000
307 212t0| & 60,000 0 60,000
04 SIZ2HSHAAISHE E & 60,000 0 60,000
02018 d=2HstsaAd4+=AU 3
60,000,000& * 13| 60,000
Aolesdae (2322 /HR) 866,172 550,252 315,920
=20 =HE 2tel 269,992 66,897 203,095
2O SHE Al 22 263,992 60,897 203,095
101 Q121 | 10,844 9,317 1,527
04 JIZtHIZ22XNSE S 10,844 9,317 1,527
O=Z0ME4dH &HXH|
60,240 = 3% » 60 10,844
201 gEt2Ay| 53,148 51,580 1,568
02 B32ZH| 53,148 51,580 1,568
OExA H24D| S22
3,000,000& = 1CH 3,000
ORLSE0| & X122
200,000 = 50 A 1,000
O&IANE WA 2,000,000& = 1A 2,000
OJIAH, &d] g2t 2,000,000& = 1Al 2,000
oMo Se&H 23 WH 500,0008 * 5= 2,500
OAHA=E HIIZEA =48 1,000,000 = 23| 2,000
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